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IMPORTANT NOTES:

1) Please make sure that you have written your student number and name above.

2) Check that the exam paper contains 6 problems.

3) Show all your work. No points will be given to correct answers without reasonable

work.
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1.(8 pts) Construct a4x4 matrix A = [a J] whose entrics satisfy ay =¥ 7, 4,7 = 1,2,3,4.
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2. In each part below, find A, by use of the given information: L 1 é} 16 64{.
(Hint: (A7) = (A7)
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3. Given that |A| =

Find the Determinants: (4 pts. each)
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4. Consider the matrices;

1 2 3
A=|[-1 =1 1},
1 1 0

(4 pts.) a) Calculate det(A).
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(16 pts.) b) Find A—11'1s:ng the Ad](A) matrix. -
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(5 pts.) c) Use the matrix A™* found in part b) to solve the system AX = B.
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(20 pts.) 5. If possible, solve the following linear system by using Cramer’s rule: (only

Cramer’s rule method is accepted)

BE CAREFUL!
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6. Using Row Reduction , find all solutions (if any) of the following systems. In cach

case, state whether there is a unique solution, no solution, or infinitely many solutions

(depending on one or more parameters).
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